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1. Given secC=

NG,

,find cosC
(i) 4 (ii) > (iii) 3 (iv) 3 (v) 4
3 3 4 5 5

2. Which of the following are true?

a) sin90° =0
b) cos90° =0
c) sin0° =0
d) sin45° =0
e) cos45° =0
f) tan0° =0
g) tan90° =0
h) cos0°®° =0

(i) {h.b,c} (i) {b,c,f} (iii) {eq,f} (iv) {ab} (v) {dc}

3. In the given figure,secM =
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4. tan(A-B)=
tanA + tanB tanA — tanB tanA — tanB tanA + tanB
(i) - (i) - - (iii) (iv)
1 — tanAtanB 1 — tanAtanB 1 + tanAtanB 1 + tanAtanB

5. Ifsin2G = 2sinG, thenG=
(i) 30° (ii) 45° (iii) 90° (iv) 60° (v) O°

6. Given that4sec6 = 5, find cos©

(i) > (ii) : (iii) > (iv) 3 (v)
5 3 3 4



7. InAGHI, right angled atH,ifGH = 8 cmandHI = 6 cm, findcosG

(i) : (i) ° (iii) 2 (iv) : (V) :
7 5 5 5 3

8. cosec55°sec23° — sec35°cosec67° =
(i) O (ii)) -1 (ii) 1 (iv) 2sin23° (v) 2sin55°
. 5 _

9. Given secN=-4 ,find tanN

5
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10. cosec50° — sec40° =
(i) -1 (i) 1 (iii) 2sin50° (iv) 0 (v) 2sin40°
11. sin8° — cos82° =

(i) 2sin8° (ii) 2sin82° (iii)) 0 (iv) 1 (v) -1

12. Given that1l5tan® = 8, find cos6
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12
13. Given cotK = 5 ,find cosecK

(i) > (i) > (iii) = (iv) = (v) 2
oy ) o (i o v o (v) g

13
14. Given cosecH = -5 ,find tanH

(i) 12 (i) > (iii) 12 (iv) > (v) 13
Vo Wy W Wy Wy

15. Given that3cosecb = 5, find sin®

(')3 (")5 ("')4 (')3 (v)
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3
16. Given cotH = 4 ,find cosH

(i) : (if) > (ifi) > (iv) : (V)
5 5 4 3



17. From the given figure,find sin(90 — L)
J
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sin15°

18. =
cos75°

(i) tan75° (ii) -1 (iii) O (iv) tan1l5° (v) 1

19. cos21° —sin69° =
(i) 0 (ii) 2sin69° (iii) 1 (iv) -1 (v) 2sin21°

cos71°sin17° B
sin19°cos73°

(i) 0 (ii) tanl7° (iii) tan71° (iv) -1 (v) 1

20.

21. From the given figure,find cos(90 — G)
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22. Given tanK = 15 V15 ,find secK

M L Gy VIS (i) 4 (V) —-vi5 (v) ~viB
| 4 I 111 v 15 V 4

5
23. Given cosecB = 4 ,find secB

(i) > (ii) > (iii) 4 (iv) > (v) 4
3 5 3 4 5
cosec60°
24. =
sec30°
(i) tan60° (ii) tan30° (iii)) O (iv) -1 (v) 1
cot27°tan48°
25. - =
tan63°cot42°

(i) tan48° (ii) tan27° (iii) 0 (iv) -1 (v) 1



Assignment Key

1) (v) 2) (ii) 3) (v) 4) (iii) 5) (v) 6) (v)
7) (iv) 8) (i) 9) (ii) 10) (iv) 11) (iii) 12) (v)
13) (iv) 14) (iv) 15) (iv) 16) (ii) 17) (v) 18) (v)
19) (i) 20) (v) 21) (v) 22) (iv) 23) (i) 24) (v)
25) (v)
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